




 

















 

 

 

 

 

 

 

 

  

  

  

  

  

  

  

  

  

  

  



  

  

  

  

  

  

  

  

  

  

  

  

 

 

  

  

  

  

  

  

  

  

  

 

 

  



  

  

  

  

  

  

 

 

 

 





 

 

 

 

 

 

 

 

 

 





 

 

 

 

 

 

 

 

 





𝑀𝐶𝑤𝑏





 

 



 

. 



 



–



𝑌 − 𝑌𝑎𝑠

𝑇 − 𝑇𝑎𝑠
= −

𝑐𝑠

𝜆𝑎𝑠
= −

1.005 + 1.88𝑌

𝜆𝑎𝑠

𝑌 − 𝑌𝑤𝑏

𝑇 − 𝑇𝑤𝑏
= −

ℎ/𝑀𝑎𝑖𝑟𝑘𝑦 + 1.88𝑌

𝜆𝑤𝑏

ℎ/𝑀𝑎𝑖𝑟𝑘𝑦)

𝑐𝑠. 

𝑇𝑎𝑠 𝑇𝑤𝑏, 



𝑌𝑎𝑠 𝑇𝑤𝑏 



𝑌 =
18.02

29.97

𝑝

𝑝𝑎 − 𝑝

𝑌 =
18.02

29.97

𝑝𝑤

𝑝𝑎 − 𝑝𝑤

𝑌𝑝 = 100
𝑌

𝑌𝑠

𝜓 = 100
𝑃

𝑃𝑤

𝑐𝑠 = 1.005 + 1.88𝑌

𝐻 = (1.005 + 1.88𝑌)(𝑇 − 𝑇𝑟) + 𝑌𝜆𝑟

𝑇𝑟

𝜆 𝜆 = 𝑎1(𝑎2𝑇)𝑎3

𝑎1 = 267.155, 𝑎2 = 374.2, 𝑎3 = 0.38

𝑇

 



𝑋𝑡 =
𝑊𝑡 − 𝐹𝑠

𝐹𝑠

𝑊𝑡 𝑡 𝐹𝑠

𝑋𝑡

𝑋

𝑋𝑒𝑞

𝑋 =  𝑋𝑡 − 𝑋𝑒𝑞 

𝑋𝑒𝑞

“ ”

𝑅

𝑡

𝑅 ∝
d𝑋

d𝑡

𝑅

𝑅 = − (
𝐹𝑠

A
) (

d𝑋

d𝑡
)

𝑅 A
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𝑀𝐶𝑤𝑏 (

𝑊 𝑊𝑑

𝑀𝐶𝑤𝑏 =
𝑊(𝑘𝑔)

𝑊(𝑘𝑔) + 𝑊𝑑  (𝑘𝑔)

𝑀𝐶𝑑𝑏

( 𝑊 𝑊𝑑

𝑀𝐶𝑑𝑏 =  
𝑊(𝑘𝑔)

𝑊𝑑  (𝑘𝑔)



                                 

  

 



 

𝑀𝑅

𝑀

𝑀𝑜

𝑀𝑒

𝑀𝑒 𝑀 𝑀𝑜

𝑀𝑅 =
𝑀 − 𝑀𝑒

𝑀𝑜 − 𝑀𝑒
=

𝑀

𝑀𝑜
 

 

 

S.S. for 

(CFU g-1 of dried meat) 



 

 



 

 





  

  

  



 

 

 



 

 





 



 

 



 

 



 





 

 



 



 

 











 









 









 
































